Excel Simulation, changing ‘n’ & p
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.     Estimating the Mean & Standard Deviation    .
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.     Describing Features of the Distribution Graph    .
[image: image7.png]123 4567 8910111213



[image: image8.png]03 Mean

L, Standard

0.25 7 eviation
02
015
01
0.05

IR RENE .

01234567 8910112



Describe:

· Mean & Standard Deviation     





  n = 10 ( = 0.5


· [image: image9.png]045 Mean

0123 456 7 8 9 101112 1



Range where most values lie within

· Skewed or symmetrical

· Reasons for truncation of distribution
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n = 10 ( = 0.15
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 n = 10 ( = 0.9

.     Calculating the Mean & Std dev from a graph    .
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Given a distribution that you have identified as binomial 

(It fits the conditions & assumptions) 
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Use E(X) to get the mean and... 











Describe Features:
· Mean & Standard Deviation     


· Range where most values lie within

· Skewed or symmetrical

· Reasons for truncation of distribution

.     Binomial Mean and Variance    .
Rolling 4 dice.

Let ‘x’ be the number of 6’s

	x
	0
	1
	2
	3
	4

	P(X=x )
	
	
	
	
	


Mean μ = E(x) = 
          E(x2) = 
Variance  E(x2) – [E(x)] 2
Standard deviation σ =
For a binomial random variable ‘X’ with parameters of ‘n’ and ‘(’ 



Mean       E(x) 



Standard deviation σ =
Expected Value
      μ =






Variance σ2 =
.     Binomial Mean & Variance    .
Big Daddy B anticipates Goldilock’s frequent visits so he builds 30 chairs

1) If the probability of a chair breaking is 0.45


a) Find the mean number of broken chairs.



b) Find the standard deviation of the number of broken chairs.

2) If the probability of a chair being wobbly is 0.85 


a) Find the variance of number of wobbly chairs.



b) Find the expected number of wobbly chairs.

3) If a group of ‘n’ chairs have an average of 8 chairs with splinters (and standard deviation of 0.9) 


a) Find the probability of a chair having splinters 



b) Find the number on chairs ‘n’

.     Calculating the π from a graph (AGAIN)    .
Given a distribution that you have identified as binomial 

(It fits the conditions & assumptions) 
Use E(X) to get the mean and then π (if n = 8)

(Harder)
 
Now repeat (if we don’t know n = 8)

































































































Σ (new) Ex 21.04


(old) Ex 15.04





� EMBED Equation.3  ���
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